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NAME: GROUP:

1.- Write a definition of the next words:

BOURGEOISIE:

GUILD:

2.- Say if the next sentences are TRUE (T) or FALSE (F):

Outside the artisan shops there were signs that said the name of the good they
produced.

The guilds obliged their members to meet certain standards.

The dominance of Christianity in medieval Europe meant Jews were often
persecuted.

Medieval cities had a regular plan and neighbourhoods were not separated.
Gothic style, as well as the Romanesque, are medieval art styles.

Gothic style was less realistic than the Romanesque style.

Medieval cities didn’t have hygiene problems.

Gothic buildings were brighter and taller than the Romanesque ones.

The synagogue is the Jewish temple where the rabbi interprets the Coran.

Jews had to wear clothes to be distinguished Christian.



3.- Look at this image of a medieval city and complete the
following statements about its main characteristics:

= TP i i sbianismmns st of medieval cities were extended as the
city grew.

e plan:Was e and there was usually a large
square in the centre of the city.

— The houses were grouped by ...............ccooiiiiiiiiiiinienne that sorted the
population according to their origin, .............ccccooviiiiiiiiinn (moreria,
Juderia), or trade.

=l ;[ L Py S e of the city were narrow and had major
problems of hygiene.

That is why the presence and spread of .............cccccooiiiiiiiiiiiiiiiienn. , such
as typhus or cholera, were frequent.

%

4.- These medieval cities grew significantly from the 12th
century. Indicate the correct answer about the causes
for this growth: write T in the correct answers.

A The causes were: a period of religious and political peace in which
the birth rate increased greatly and the transfer of lands of the
Church that allowed the cities to expand.

B The causes were: the end of invasions, the transfer of land of the
Church to expand the cities and the conquests of new territories
where new cities were built.

C The causes were: the end of invasions, agricultural growth,
population growth and the revival of trade.

D The causes were: agricultural growth, the increase in the amount of
artisans of different jobs by royal order and the decrease of violent
deaths.



5.- Answer the guestions about the BLACK DEATH:

Where was the Black death originated?

When and how did the Black Death arrive to Europe?

What's the origin of its name?

How many people were affected in Europe?

how was it transmitted to humans?

What did people think about the plague?

6.- Write which of these images corresponds to a Gothic
cathedral and which to a Romanesque church:

A. Gothic cathedral,

B. Romanesque church



7.- Complete the gaps:

From thiel v arvennsins century, the Gothic artistic style spread trough all

--------------------------

Masons and builders built palaces fornobles, ..............c..ooooiil for local
governments and .............ooiiiiiii i for merchants. Although the
most important building which was the centre and symbol of the cities was the

...................................

The .o style was characterised by itsgreat ........................... ,
extemal cvnsnvunsivanises BN B8 vnmnaimasisain glass windows.

8.- Complete the picture with the parts of a GOTHIC CATHEDRAL:




9.- Complete about the next masterpieces:

Type of masterpiece:

Style and chronology:

Topic represented:

Description (characteristics of the style):

Type of masterpiece:

Style and chronology:

Topic represented:

Description (characteristics of the style):




10.- Write Romanesque or Gothic below the next masterpieces:

AT S0 oo




